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1) Ffion is adding 3 fractions together.
Here are her workings.
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This is the same as § + 3 + 35 = 32,

Use Ffion’s method to add the following fractions:

1
*12

2) Match the calculation to the correct answer:

1,2 11
3412 12
1 1 ER
2 B 12
L,1,1 10
123%% 12

Show your working here:
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1) True or false? Prove it!
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If false, what mistakes do you think have been made?

Hassan is sorting his marbles.

1

Lare red.

L are blue.

25 are yellow.

The rest are green.

What fraction of the marbles are green?
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1) The answer is equal to or less than 1.

Find 3 possible ways to complete the calculation.
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2) Jessie adds 3 fractions together.

Each of the 3 fractions has a different denominator.
The total is less than 1.
The denominators are all factors of 16.

1
Each of the 3 fractions is less than 3.

What could the calculation be? Find all possibilities.





